






































Update to the P2 Glitch Modification 
10/6/14 

John Wertenbaker 
 

 It was discovered that the positive voltage of the P2 output can be inadequate to drive 
some circuits.  The output is a PE8304 pulse transformer driven by a DS8830, with 30ohms in 
series.  The duty cycle of this output is about 70/30.  Due to the fact that the average DC 
voltage output of a transformer must equal 0V, this duty cycle severely cuts back the positive 
voltage level.  It does, however, increase the negative voltage level.  With no load, the positive 
output is about 3V, and the negative output is about 7V.  At a 100 ohm load, this dips to +1.5V 
and -3V respectively.   

 

 This might not be enough voltage to drive some devices, especially opto-isolators.  
However, if one were to wire a special Lemo cable that reverses the + and – outputs, this would 
send the higher voltage to the opto-isolator. 
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